


EXPLODED VIEW: EV BLOCK HEATER 2.4L G2    

DRAWING #:0G9995  GROUP H     

 
ITEM PART# QTY. DESCRIPTION 

REVISION: CN-0017062-E  Page 2 of 2 

DATE: 6/26/18 

 1 084918L 1 HEATER BLOCK 1500W 120V 
 2 G050967 1 HOSE COOL 5/8 ID 20R3 (37” LG) 
 3 G042568 4 SCREW HHC M6-1.0 X 20 G8.8 
 4 G022473 4 WASHER FLAT 1/4-M6 ZINC 
 5 G084427 1 BRACKET HEATER W/WELDNUTS 
 6 G022097 4 WASHER LOCK M6-1/4 
 7 G049813 2 NUT HEX M6 X 1.0 G8 YEL CHR 
 8 10000019273 4 CLAMP HOSE .909 OD DOUBLE WIRE 
 9 G044117 2 BARBED STR 3/8NPT X 5/8 
 10 0F2579 1 ADAPTER 3/8 BSPT M X 3/8 NPT F 
 11 G050967 1 HOSE COOL 5/8 ID 20R3 (13” LG) 
 12 0A6751 REF SWITCH HI-TEMP 245D X 3/8NPT   
 14 0G9362 1 TEE BRANCH 3/8NPT FMF BRASS 
 15 077043E 1 CONDUIT FLEX 1.0"ID (13” LG) 
 16 029333A 2 TIE WRAP UL 7.4"X .19" BLK    
 17 077043E 1 CONDUIT FLEX 1.0"ID (37” LG)  


